
Soustraction de Nombres Entiers (D)Utilisez la stratégie d’un nombre entier pour trouver chaque question.(-31) - (-63) = (-66) - (-13) = 38 - (-41) = 
76 - (-26) = 57 - (-86) = 44 - 66 = 
(-6) - 27 = (-5) - (-77) = 99 - 6 = 
46 - (-28) = 45 - (-13) = (-15) - 9 = 
(-47) - (-32) = (-21) - 31 = (-23) - 98 = 
64 - 40 = 34 - (-70) = (-73) - (-46) = 
29 - 11 = 50 - (-59) = (-98) - (-85) = 
(-34) - (-43) = (-43) - (-67) = (-74) - (-81) = 
51 - (-60) = 18 - 51 = (-93) - 33 = 
4 - 17 = 30 - 62 = (-83) - 26 = 
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